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DRBBABHERMETER

B 28 EHE (M) | 29FH#F (M)
1 ABHEEIRA 18,396, 324| 18, 396, 324
2 EEMA 868, 702 868, 702
3 s 2,641,166 2,641,166
4 HRIF I 33, 908 33, 908
IR & & 21,940,100] 21,940, 100
5 AN4#& 7,192, 560 7,956, 203 | ER&E#wEN2.1%18
6 HKE& 1,106, 108 1,106, 108
7 NEE 1,399,908 1,445 447|EsuS48enit i
8 MEE 2,536,270 2,602, 730|memifizs4.92% H R AH#s2 56%H 7E 18
9 R {EME 1,577,885 1,577, 885
2o thit - RS 1,608, 175 1,673, 459 |+ h2 6%t RE4 3%
§ 11_1BRE 745, 833 754, 037 H# = miliEs ) %E
112 NFRNER 941, 890 056, 688+ th2 6utz. RE4.3%1
13 RIEH 78, 059 78, 059
14 & - HESRE 590, 280 596, 773 |:4%E EpiMite 5. 1%
15 & - XBE 279, 561 279, 561
16 ZOHERsE 1’ 346, 251 1, 358, 865 oﬁfj(*ﬂiﬁéiiﬂ% EEESFERER1TIHEGNAR) .
=L 20,002, 780 20, 385, 815
17 BENER 365, 805 365, 805
18 4$FAliER 318, 543 318, 543
19 BEYEAEE 212, 608 212, 608
ERAE 20, 899, 736| 21,282,771
20 INXZE 1,040, 364 657, 329
21 EEHRHN 872, 341 872, 341
B EEE 168, 023 A215 012
X FREELE A 0.913% 1.168%

X ATEELERFERX

(EREH+EXEHM) — RBEF)

ABHEIA

DRBGABHERRIBERAE
1 HEREMELER (29FH#E) 1.168%

2 HAHMESARZROER (—tHE—EH-YOARRSE)

XA 2.88A x 460M = 1,324.80M
m A  0.05A x 180 = 9.00H
ING 0.06A x 80 = 4. 80M
Hi 2.99 A 1,338.60M
3 BEHERROER
1,338.60 9 x 1.01168 = 1,354.230
XA 2.88A x 465431 = 1,340.43M
m A  0.05A x 180.00M = 9.00H
INA 006N  x  80.00H = 4. 80M
Hi 2.99 A 1,354. 230
4 HER

AN 465A (+ 5A)
A 180MH (= 0OF)
INK 80M (= 0F)

X 2.99N 28N B
( THEDL b Liex | HAEERAERH OHTIHAE®RS)



